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M. Com. (Sem. IV) (W.E.F. 2016) Examination
March / April - 2022

Advanced Cost and Management Accounting :
(GRP-1-ACC)

1
Time : 25 Hours]

[Total Marks : 70

1 A waasuiedl vedl sufsdl Al : 20
[aewal ewa X | [eua Y | [@euwa Z
Qaugl 30,000 37,500 50,000
5151l a8 ?) 12,500 (?)
sidsld] Basd (34 Aswl) 15,000 ?) 25,000
Aslell 4R andr (ROI) 7.5% 5% 10%
ML 9L 3 ARl &R 5% (?) (?)
AN Aas (RI) (?) 2,500 0

¥Yql

1 M k23 A, 20211 (o 200 8 - 20
RN iellrd 3. | WU 3.

HlAULHIA 4,00,000 | 5,10,000
wogdl 2,50,000 | 3,25,000
QU2 (1 et 3. RR) 2,00,000 | 2,20,000
YUl (Alud) 75,000 95,000
PIEIPTETRCTRN (VY 50,000 50,000
gl (RaR) 1,00,000 | 1,00,000
2t (Alid) 25,000 30,000
ez (Alud) 1,50,000 | 1,80,000
adladl wi R 2,50,000 | 2,65,000
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(el 50 Halld €. A, 2021 e(Huld ielld e wAvR Gaule-d
10,000 241 12,500 sl ivisH s34 O,

oAl Su-l Qo1 oid 53 dl dn sl Adl Adl U3 FHi Vs YHe €ls
3. 150 ysadl ud du 8.

GUASd HUBAL UL W3dR 3+%, sl 3vs A wloseld dwdl RUe
CRICIR

2wl wey. sudldl wBu-2-dl ledl Ay © ¢ 20
(1) uBa «. 2 Ay sl A3 @A 700 As4lL 3. 9,500

(2) uBuL <. 1 vuddl @l 20,300 2AsHL 3. 1,38,100
(3) ulul . 3 vid a4 21l 19,300 54l

(4) ulBul «. 2«4l v €5 1000 M)

(5) PR 700 AsHL

(6) uBuL . 241 wal :

wawHdl = 3. 76,560
1yl = 3. 38,160
wig wal = 3. 19,080
(7)  yelaidl sau :
R A3 WS | 2R WS | 62U
HIAAULHLA 80% 70% 100%
gl 60% 50% 60%
ua Wl 60% 50% 60%

-

ALY 61LLS slule B5HIAL 5% 8. HoUR-L 13e AsHL 3. 3 AW Guy
8. Gua+ll MRl wl dur A :

(1) ysl As¥le ua1s
(2) s €ls usdr salad uais
(3) His Uas
(4) uBUL-2 wig
Yql
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2 ya Suslldl uBul ‘o L AlA Yo Hilsdl g O 20

(1
(2)
3)

(4)
(5)

(6)

(7)

(8)
9)

AAUR Hld-Al U3 WS Y.

wBAML slva AsML 10,000, s €ls 3. 3 Qul.
Wi HiA Al uBULeAl v

WaAaHid = 3. 14,650

il = 3. 21,148

DR wal = 3. 42,000

AL 62U : slvid AsHIL 1% avl

ULl vld YA AsH = 350 sH)

yeldi-l sail :
HaAqHd = 100%
gl = 50%

R wal = 50%

WBALAL i QAR Hdxl Baled AsHL ¢ 9,500 AAsHL
ALY 610U Yeldl sall :

Haq™d = 100%

1ol A RIRAYA vl = 80%

ALY 63 BUSHELS 3. 1l MU AuUHl 2ud 8.

VAL 62U3AL 5HL 2SHELS 3. 2.50+ A AAAUHL 1A O,

Gusll Hifscdl vl dHIR dUIR sl B :

(1)
(2)
3)
4)

ysl wsHle uais
VSHELS UIdR UaLs
YRS YAS

AL ‘o vilg
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3 s axg ¥l Gauled uwidR 1A Hael 8. d-dl duwe Bud WYl siel. 15

HlA™ALHLA 3. 40,000
gl 3. 35,000
e W 3. 25,000

ARgd Gaule A ARl 50,000 AsHld 8. AsAd YAl R oudl
3. 98,000 © i Aldd ®12L QAL Gladldl 40% 8. Av{l swielldl 40%
vl 52930 Ysl olle Aol AsAdl 4 U 12% sl U 8.

vYql
3 3adl [, siaui Wdidl 80% &Mdidl s1dd © e oY Gaules 15

auel A y3 ul 8. 3udl [, uldidl axd 3. 3,50,00040 auel R4 y3
U 8 A dARL YR 20% +ASL HOd O, AAsHELS UcdE Uid R 8. ual
Wdel el 1Ay © ¢

ot 80% a&Mdl | 90% &udl | 100% addl
20,000 2AsHL | 22,500 sHL| 25,000 2sHL
alid vl 3. 60,000 3. 67,500 3. 75,000
e AR wd | 3. 25,000 3. 27,500 3. 30,000
Rz v 3. 60,000 3. 60,000 3. 60,000

Sudl (1.9 sladl Baulennl 20% ¥2dl Ms 08 HOL 8. AL HI2 quIR1HL
U0l vz 3. 1,000 2all qiRel 8. M 18R 2090 axg+l Bud »idl Ad
A5l sA 3 ¥l s Brd 4R 10% sl 1A

4 Y quil. 15
(1) udR AAEAAL AR Ylar
(2) dslad @vil : 4id Re A AAasly Re
vYal
4 <Y quil. 15
(1) aA™ A 1Y Geawlesdinl [Bileil

(2) $4 Bculesdl v A3 Gaulesdl
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ENGLISH VERSION

Find out the missing data in following table : 20
Particulars Department-X |Department-Y [Department-Z
Sales 30,000 37,500 50,000
Operating Income ? 12,500 (?
Operating Assets (Investment) 15,000 @) 25,000
Return on Investments 7.5% 5% 10%
Minimum Required ROR 5% ? ?
Residual Income ? 2,500 0
OR

Jenisha Ltd. provides the data for May, 2021. 20
Particulars Budgeted (Rs.)|Actual (Rs.)
Material 4,00,000 5,10,000
Labour 2,50,000 3,25,000
Repairs (one lakh fixed) 2,00,000 2,20,000
Supervision (variable) 75,000 95,000
Factory rent (fixed) 50,000 50,000
Depreciation (fixed) 1,00,000 1,00,000
Tools (variables) 25,000 30,000
Power (variables) 1,50,000 1,80,000
Administration (fixed) 2,50,000 2,65,000
The department has 50 identical machines. During May, 2021 the
budget and actual production of the department are 10,000 units
and 12,500 units respectively. If the department was closed and
the machine production service hired the cost will Rs. 150 per
unit. Prepare report of cost centre, profit centre and responsibility
centre.
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2 Following are the data respect of process 2 of Prakshi 20

Manu. Ltd. :
(1) Opening stock of work in progress in process 2 : 700 units
Rs. 9,500
(2) Transfer from process 1 A/c. : 20,300 units and Rs. 1,38,100
(3) Transferred to process 3 A/c. : 19,300 units
(4) Closing stock of process 2 A/c. : 1000 units
(5) Unit scrapped during process 700 units
(6) Expenses of Process 2 Alc. :
Material = Rs. 76,560
Labour = Rs. 38,160
Overhead = Rs. 19,080
(7) Degree of Completion :

Particulars | Opening Stock | Closing Stock| Waste
Material 80% 70% 100%
Labour 60% 50% 60%
Overhead 60% 50% 60%

There was a normal loss 5% of production and scrapped were
sold Rs. 3 each. From the above information prepare :

(1) Statement of equivalent units
(2) Statement of cost per unit
(3) Valuation statement
(4) Process-2 Account
OR
2 Yash Ltd. gives following details for process B' : 20
(1) Opening Stock of semi finished goods - Nil.
(2) Units introduced in process 10,000 units at Rs. 3 per unit.
(3) Expenses for the process in the month of March :

Direct Material = Rs. 14,650
Labour = Rs. 21,148
Overhead = Rs. 42,000
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(4) Normal wastage : 1% of units introduced
(5) Incomplete units at the end of process : 350 units

Degree of Completion :

Material = 100%
Labour = 50%
Overhead = 50%

(6) Production of finished goods at the end of process :
9,500 units

(7) Degree of completion of abnormal waste :
Material = 100%
Labour and Overhead = 80%

(8) Normal wastage is sold at Rs. 1 per unit

(9) Abnormal wastage is sold at Rs. 2.50 per unit

You are required to prepare :

(1) Satement showing equivalent units

(2) Statement showing cost per unit

(3) Valuation Statement

(4) Process 'B' Account.

3  Find out the selling price of a product having following cost 15

structure :
Material Rs. 40,000
Labour Rs. 35,000

Overheads Rs. 25,000

Sales and production is of 50,000 units. Capital employed in fix is
Rs. 98,000 and that in current assets 1s 40% of sales. 12% return is

expected on capital employed after paying tax at 40% of net earning.

OR
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Keshavi Ltd. presently operating its plant at 80% capacity to

15

manufacture a product only to meet the demand of Samarth Ltd.
Keshvi Ltd. supplies the product for Rs. 3,50,000 and earn profit

of 20% on sales. Direct cost per unit is constant. The indirect

costs estimation are as under :

Particulars

80% capacity

90% capacity

100% capacity

Variable cost
Semi variable

Fixed Cost

20,000 units
Rs. 60,000
Rs. 25,000
Rs. 60,000

22,500 units
Rs. 67,500
Rs. 27,500
Rs. 60,000

25,000 units
Rs. 75,000
Rs. 30,000
Rs. 60,000

It received and export order for the product equal to 20% of its present
operation. Additional packing charge will be Rs. 1,000 for the order.
Determine the price of export order to give a profit margin of 10%
on export price.

Write notes : 15

(1) Four pillars of cost management

(2) Difference between cost audit and management audit

OR

Write notes : 15

(1) Material and Labour Productivity Accounting

(2) Total productivity and Value added productivity.
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